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a = [0, 1, 2
a.each do |i

puts 1
end

.each{|i| puts i}
>> 0
>> 1
>> 2
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a = [0, 1, 2, 3] # => [0,
a.map{|i| i * i} # => [0,
a.select{|i| i.even?} #
a.inject{ls, il s + i} #
a.find{|i| i.o0dd?7} #
a.all?{|i| i.even?} #
a.any?{|i| i.even?} #

1,

=>
=>

i
vV V

2, 3]




array.mapq{|i| i * i}
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open(’hello.txt’) # => #<File:hello.txt>
open(’hello.txt’){|f| f.read}

# => "ChICBIF\n"
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# open(’hello.txt’){|[f| f.read}
begin
f = open(’hello.txt’)
f.read
ensure
f.close unless f.nil"”
end



70w 7 DR\ open

BEZAS A7k
: |
open
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read
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close
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2
#
#

H

.times{puts > CAICBIL’}

>> ZhICBIE
>> ZhICBIE

.times{|i| puts i}

>> 0
>> 1

(2)
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people = {matz: 47, dhh: 32}
# => {:matz=>47, :dhh=>32}

people.each{|person| p person}

# >> [:matz, 47]
# >> [:dhh, 32]




Hash Ol (2)

people = {matz: 47, dhh: 32}

people.each do |name, agel

p "#{name} (#{agel})"
end

# >> "matz(47)"
# >> "dhh(32)"
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midosuji = ["MgH", "EER",
"ZFHI", "IE\f'.T'fl-'*%", "tﬂ:h‘i‘"]

midosuji.each_cons(2){|path| p path}

# >> ["fgH", "EEE".
# >> ["EEB", "4&H"
# >> ["AHE", "IDFEE"
# >> ["IDEE", "RBAE"]




each_cons Dl (2)

midosuji.each_cons(2) do |from, tol
p "#{from} - #{to}"
end

# >> "Bl - EEB"
# >> “EER - ZAH"
# >> "ZAH - IDFEE"
# >> "IbiFERE - BAEE"




each_cons Dfl (3)

a = [%0..3] # => [0, 1, 2, 3]
a.each_cons(3){|il| p i}

# >> [0, 1, 2.

# >> [1, 2, 3.

a.each_cons(3){li, jlI p [i, jl}
# >> [0, 1.

# >> [1, 2
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p unknowns.first
# >> [1, ["matz", 47]]

unknowns.each do |id, (name, age)|

id # => 1
name # => "matz"
age # => 47

end
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monta{puts ’block!’}

# >> block!
# >> block!
# >> KYEZ&EDT
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def monta

yield

yield

puts > KYE I &EEDT’

end
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def monta(&block)
block.call
block.call
puts ’*KUIRZ &R DT’

end
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def monta
yield > KYJIR T EIRDT’
yield * KY)IRZ &R D T’

end
monta{|il puts "#{i} block!"}

# >> KUK ERDT block!
# >> KUK EHRDT block!
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def monta(&block)
block.call * KUlig’, * 2 &IBEDT’
block.call [ KUYIi&’, ' 2 &EBTDT]

end
monta{|il puts "#{i} block!"}

# >> KUJIE block!
# > ["KYFE", "ZEFDT"] block!
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block = Proc.new do |i, jl
puts "#{i}#{j} block!"
end

monta (&block)

# >> KUK ERDT block!
# >> KUIRIERDT block!
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a = (0..9).to_a
a # => [0, 1, 2, 3, 4, 5, 6, 7, 8, 9]
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Enumerable#map Z HEL TA L 9,

module Enumerable
def my_map
end

end

7272 L Enumerable#tmap & Enumerable#map!
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